N

/

DATE:

RELEASED TO
MANUFACTURING

08/23/2005

APPROVED BY: ML.A

~

_/

PART NUMBER

DESCRIPTION

SD3-1-Y

SCREW - TAPTITE LOW 5/16"-18 x 7/8" YELLOW CHRMT

SD3-1/316

SCREW - TAPTITE LOW 5/16"-18 x 7/8" 316SS

S ——

1.

NOTE:
TAPTITE GRADE 5, 5/16 - 18 THD,

5/16-18 UNC

—~— 3/16"

INDENTED UNSLOTTED HEX WASHER HEAD.

UNLESS OTHERWISE SPECIFIED:

UNLESS OTHERWISE SPECIFIED
REMOVE ALL BURRS & SHARP
CORNERS

DIMENSION TOLERANCES
XX +/-.010

NAME/# DATE o Manufacturers of Doors for Special Services
l g Dg = Dcf THE BILCO COMPANY

DRAWN PRC |03-04-05 New Haven, Connecticut 06505
TITLE:

ORG. AUTHOR TFH

/F\R’\L\GCLT%)N;LV/??/M ORG.ECR_101-12:90 SCREW-TAPTITE LOW 5/16"-18 x 7/8"_
THIS DRAWING IS THE PROPERTY
8 RECREATED IN SOLIDWORKS, COMBINED 19.171 PRC | 03-04-05 |febibcosmbpiy (FTERERE SFOMERC QA
SD3-1-Y, SD3-1-316 INTO ONE TABULATED DWG : Nomuon Moy (TOLERANK : COMMENTS: TEIWE NG SEV
IN WHOLE OR IN PART I
A HEAD HEIGHT ".187" WAS "13/64" 14636 VO | 042203 |iiemimen SEE TABLE . .
REV. DESCRIPTION ECR BY DATE LHEFER Tg:éggmmg%%g;%;gig SEE TABLE -
REVISIONS Rt REsERveD, " |DO NOT SCALE DRAWING SCALE: 2.1 [WEIGHT: | SHEET 1 OF 1
7 T T T
4

3

1



-
MANUFACTURING

RELEASED TO

DATE: 08/23/2005

~

PART NUMBER DESCRIPTION
SD3-Y SCREW - TAPTITE 5/16"-18 x 7/8" YELLOW CHRMT
SD3/316 SCREW - TAPTITE 5/16"-18 x 7/8" 316SS

- 7/8” —_—

S ——

5/16-18 UNC

UNLESS OTHERWISE SPECIFIED: NAME/# | DATE |5) © [p , Manufacturers of Doors forSpecial Senvices
APPROVED BY:  M.A. UNLESS OTHERWISE SPECIED. | DR AWN PRC_|030405| QUUZ2(D] THEBILCO COMPANY
8&?%5%7 T[())]EERANCES T|T|_E
oo 4018 ORG. AUTHOR | TFH
BB e ORG.ECR 013650| SCREW-TAPTITE LOW 5/16™-18x7/8"_
A S o ARy anh [INTERPRET GEOMETRIC QA.
B AL AN L <y 19.171 PRC | 03-04-05 |RSEOsSsSHEREA |10l cRANCING PER: IV
: NWOTE ORI PATS ' [MATERIAL o 1A ) £ ) SIZE[DWG. NO REV
A REDRAWN IN MET0 14514 JVO 03-26-03 |ntorimicotin [ ' .
REV. DESCRIPTION ECR BY DATE  |feiosdiot Coliamen SEE TABLE
REVISIONS Rt seseve. - [DO NOT SCALE DRAWING SCALE: 2:1 [WEIGHT: | SHEET 1 OF 1
i T T 1
5 4

3

1



